
LoonyTix Part Number Wholesale Price

Cabinet Assembly, Impact Videmption 900000336 $5,995.00

Loony Tix Topper Sub-Assy with Software 900500338 $1,000.00

Monitor, Effinet, 46" w/ Touchscreen 938002046 $2,500.00

Impact Cabinet Components Part Number Price

LED Indicator Light, 12V, RED 330000100 $4.00

Switch, Pushbutton, SPST - NO 370000050 $3.50

Cap for Pushbutton Switch, Round, Red 370000055 $1.50

Switch Actuator, Low Ticket 375001275 $7.00

Heat Sink for Microprocessor -- (Blank - No Chomerics) 710000110 $2.95

Cash Box for Redemption 752001227 $15.00

Connector Bolt, 1/4-20x50mm, BLK 775000300 $0.14

Connector Bolt, 1/4-20x30mm, BLK 775000320 $0.14

Screw, 4-40x3/16 Phillips Pan -- ZINC 780000025 CALL

Screw, 4-40x5/16 Hex WH MS, ZINC 780000120 CALL

Screw, M2.5x4mm Phillips Pan HD -- Machine Screw, ZINC 780000254 CALL

Screw, 6-32x3/8, Flat Undercut -- Head, Phillips MS, ZINC 780000605 CALL

Screw, M8x16mm Phillips Pan HD -- Machine Screw, ZINC 780000816 CALL

Screw, 1/4-20x1/2 Hex Head -- Cap Screw, ZINC 780000840 CALL

Nut, 6-32 Hex, KEPS 785000070 CALL

Lockwasher, M8, ZINC 790000008 CALL

Flat Washer, M8, ZINC 790000108 CALL

Bridge Lance, Metal Screw-On Mount 795000140 CALL

Thumb Lock, No Key 795000275 CALL

Cap Insert for LCD Stand 795000400 CALL

Meter, 5V w/Cable -- 7-Digit, Clear Case 795000758 $11.00

U-Bolt, 1/4-20 x 1-3/8, Black 795100336 CALL

Concrete Block, 3-5/8 x 7-5/8 x 15-5/8, 35 lbs. 795336001 CALL

Leg Leveler, Low Profile, Redemption 795336150 $6.50

Quick Start Guide For Videmption Cabinet 840000336 $2.00

Decal Set, Loony Tix 840000338 $16.00

Kit, Coin Mech Holder 938000064 $26.00

Ticket Dispenser, Deltronic 938001275 $90.00

Coin Mech, .25 Cent, USA 938003079 $15.00

Ticket Bin, 4000 Capacity, Deltronic 938004000 $20.00

Speaker, 4 OHM 15W Shielded 740000004R $11.50

Power Supply - 350W ATX (ROHS) 745000915R $65.00

Wood, Base Cover, Redemption, Black 751336105RC $135.00

Wood, Base Top, Redemption, Black 751336209RB $75.00

Cam, Flat 752287490RB $2.00

Vertical Pole, LCD Stand 752304403R $47.00

Base, Redemption 752336106RE $80.00

Incredible Technologies

  Price Sheet - Page 1

January 2018

LoonyTix Parts & Equipment

MORE PARTS ON PAGE 2.



Impact Cabinet Components (cont.) Part Number Price

Wire Port 752336122RA CALL

Coin Box Locator Bracket 752336126RA CALL

Concrete Block Hold Down Bracket 752336129RA CALL

Weight Cover Back, Redemption 752336201RC CALL

Base Cover Front, Redemption 752336204RC CALL

Weight Cover Right Side, Redemption 752336205RC CALL

Weight Cover Left Side, Redemption 752336206RD CALL

Main Cabinet Brace 752336309RD CALL

Hinge Spacer 752336310RC CALL

Speaker Pod Left, Redemption 752336312RD CALL

Speaker Pod Right, Redemption 752336313RD CALL

System Box Base Cabinet 752336316RD CALL

Right Speaker Pod Back Cover, Redemption 752336325RB CALL

Left Speaker Pod Back Cover, Redemption 752336328RB CALL

System Box Door, Redemption 752336331RC $40.00

System Box Door Frame 752336332RC CALL

Ticket Tray Holder, Redemption 752336333RB CALL

Wire Hole Cover, Redemption 752336338RC CALL

System Board Mounting Bracket, Redemption 752336339RE $15.00

Power Supply Mounting Bracket, Redemption 752336340RB CALL

Blank Plate, Coin Mech, Redemption 752336343RB CALL

Card Dispenser Blanking Plate, Redemption 752336346RA CALL

Adapter Plate Mounting Bracket 752336350RA CALL

Coin Mech Insert 752336351RA $10.00

Embed Card Reader Insert 752336353RA CALL

Sacoa Card Reader Insert 752336354RA CALL

Bill Acceptor Blank Plate 752336355RA CALL

Monitor to Stand Mount, Video Redemption 752336407RD CALL

Left Side Monitor Adjuster 752336408RD CALL

Right Side Monitor Adjuster 752336409RD CALL

Monitor Mount Left Side 752336410RD CALL

Monitor Mount Right Side 752336411RD CALL

System Box Mount, Redemption 752336427RB CALL

Hinge, Belly Door, U3 795323430RB CALL

Board Assy, Aaeon iMX6 Carrier Board 900001402R2 $450.00

Motherboard, Aaeon AQ7-iMX6 900007006R $360.00

Cable Assemblies Part Number Price

Cable Assy, Line Cord, 18 GA -- 10 ft. 915000750R $11.00

Cable Assy, USB Cable, 3 ft, A Male to B Male 915003310R $4.00

Cable Assy, HDMI, 3 ft w/Ferrite Core 915003400R $12.00

Cable Assy, Main Harness, Redemption 915336100RA $45.00

Incredible Technologies

  Price Sheet - Page 2

January 2018

LoonyTix Parts & Equipment



LoonyTix Topper Sub-Assy with Software Part Number Price

Plexi Topper, LoonyTix 845000338 CALL

C-Fast, LoonyTix 900000338 CALL

Bracket, Redemption Topper Mounting 752336418RD $15.00

Bottom, Redemption Back Lit Flat Topper 752336431RA $30.00

Back, Redemption Back Lit Flat Topper 752336432RB $59.00

Side, Redemption Back Lit Flat Topper 752336433RA $20.00

Top Extension, Redemption Back Lit Flat Topper 752336434RB $65.00

Artwork Mount, Redemption Back Lit Flat Topper 752336435RA $3.25

Wire Tiewrap, Nylon, 3/32x4" -- (ROHS) 795000090R CALL

Assembly, Lightstrip, Redemption 900336102RA $80.00

Board Assy, Security Key Fob, LoonyTix 900381401R1 CALL

Screw, 8-32x3/8 Hex Phillips -- WH SEMS MS ZINC 780000115 $0.20

Nut, 8-32 HEX, KEPS 785000085 $0.38

Parts & Customer Service   Phone : 847.383.1092  *  FAX : 847.454.9156  *  Email : PartsAdvance@itsgames.com

MORE PARTS ON PAGE 3.

Incredible Technologies

  Price Sheet - Page 3

January 2018

LoonyTix Parts & Equipment

Prices and part numbers subject to change without notice. Sales tax applicable in: AR, AZ, CA, CO, FL, GA, IA, IL, IN, LA, MI, MN, MS, NJ, 

NM, NV, OH, OK, WA, WI.

Contact Happ Controls (888-289-4277 or 847-981-2902) for BILL ACCEPTERS / MONITORS

Techincal Support and Service Phone : 847.383.1090  *  FAX : 847.454.9008  *  Email : PartsAdvance@itsgames.com

Equipment and Update Sales Phone : 847.383.1094 * FAX 847.454.9156 * Email : Sales-Amusement@itsgames.com

Incredible Technologies Main Phone and Personnel Directory : 847.870.7027

Payment terms: MC, Visa, Discover, Check, or COD


